e e

et s i 8

al

5

A N T PRI N S B b a
([ A2 A3 Adii | A5 A6 A7 A8 A9 A0 || Time
| S P
(32 18 23 75 40 93 16 36 70 28 94
' 30 I5 13 85 24 97 18 45 40 57
79 70 48 23 50 62 27 -67 95 &3
'< 21 34 56 11 65 -0 42 81 19 82 4 mins
i 84 52 -39 &4 16 317 89 32 83 41 Marks
| 76 79 &7 19 38 =15 70 94 6l =70
' &3 56 —$0 26 87 56 61 =53 ¢47 58
12 &8 21 77 71 -3 81 17 12 -39
10
e ;3,«-1 B i R e e
. l ~Multiplication | - Time Marks / 30
1LF X 2= )26 x5 = 21| 16 X 6 =
2125 X17= 12177 X7 = 22138 X2 =
30490 X 4 = 131712 X4= 23140 X7 =
4113 X8 = 14148 X T = 24| 63 X 5 =
5LET X 8= 15153 x & = 5182 X9 =
6|85 X5 = 16162 X5 = 26|54 X 6 =
7190 x ¢ = 17|31 X8 = 27|10 X & =
8139 x2 = 18|90 X 9 = 28177 X4 =
104 X 6= 20025 X 4 = (47 X3 =
Q) |
(“gg;c" % (3d 3!")
5 1 2 5 6 B 9 10 Marks | Time
10
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d 23 12 22 25 3 > ; . ” o bom
51 5 1o | -5 52 o . - |
f 25 22 55 34 5 0o | -3
0| )
i _ |
Bl B2 B3 B4 85 Bs | 87 B8 ) B0 15T
17 13 4z 81 4 43 22 54 34 e ul
7\‘;.' 12 86 -20 18 55 56 15 25 -23 32 3 mins
W 2 | s ségie k7o 180 | 80| ~60 10 87 51 [ Marks
\ ) —
(T el c2 c3 c4 c5 c6 7 c8 9 c10 | Time
| e 24 74 50 18 52 36 9] 83 10 al
! T s 60 6 | sz | 16 | 89 70 28 50 & |3l ||
R 70 95 -98 36 20 -64 Z] 40 -61 49 || Marks
21 37 52 74 53 17 98 63 14 27 R
10

1|57 = 7 = a|wis -
bl2{177 «+ 3 = 12207 + 9 = 22| 288 -
l[ 3|é72 + 8 = (|28 + 6 = |23 38 -
f7399+7= [14]490 + 5 = ea| gy -
l 5013 = 2 = 151388 + 4 = '-125 752 =
o [[+]® -7 - EREE | EERE
L7 ]108 « 6 = o LRI - 127|504 + 7
f3553+8= 181384 + 6 = ;;‘2;6+—
. .
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| Sums

1
Al A2 A3 Ab A5 | A6 A7 AB A9 Al10 Time
235 768 751 623 627 429 782 963 871 739
112 121 126 126 160 | 312 | -6711 | -716 | -620 | -627 |3 mins

Marks
10] 110 112 150 200 -101 -111 -102 143 352
10
~

Complefe’ the_multiplicdﬂon and division puzzle
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A number is divisible by 2, if the last digit is 0, 2, 4, 6 or 8.
) To find out whether it is civisible by 2, just see the Jast digit.

“  For example in 438 the last digit is 8, which is even and divisible by 2 (2 x 4 =
o, ‘ Therefore 438 is divisible by 2.

-------------------------------------------------------------------------------------------------------------------------
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A3 A4 A5 A6 A7 -AB A9 A10 || Time
76 o4 37 23 70 73 52 18
68 &3 12 63 4z 68 4 58 94 30
35 -92 80 I5 29 19 53 -47 23 46
70 65 73 50 58 42 679 71 65 52 4 mins
74 =31 o1 26 70 70 32 -36 18 74 Marks
37 o 7 28 47 13 73 84 12 60 27
61 -20 19 37 54 6l Z7 —Z0 47 41
87 16 64 —28 67 54 18 49 89 63
10
Marks| /10| (  Multiplication | | Time Marks| /20| '_’[_LMdrks /10
R, = g
o , ‘ B 1|26 x2 = (g6 X5 = o 1
§
2 2130 x7= 12118 X9 = 2
. 3 g qi= 13|86 X 4 = &l 3
: 4052 x 8= 14|45 x 7= 4
5 5139 X3 = 15(30 X & = 5
6 615 x5= 16|37 X 4 = e
7 796 X 6= 7115 x2 = 7
8 8|45 X2 = 18160 X7 = 8
9 9|73 x3= 1929 x § = o
10 10129 X 6= 20172 X9 = 10
J l*\-.‘wa‘..‘ i el s _-‘J
‘ 1d 16r
1 2 3 6 7 8 89 10 Marks | Time
10 J
u 4 —
. .Fl Y
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A2 Ay 1A 7 T Y e ,Aﬂ'.w 7 ﬁff: Time_
: 89 7 3z 13 28 2 03 o 11 13
D =15 16 15 61 13 16 52 5¢ 25 1 J..&'J.‘i
0 | s | os2 | s | s | s | w0 o | s | ss  [Marke
@ Bl [ ]
B2 B3 R4 85 a6 b7 (A o | mo | Time
&8 21 56 53 69 13 Y] 84 51 23
10 53 12 4s | -1s 26 56 | =53 30 61 |3 ming
2] I5 50 =76 30 -84 | -32 62 17 | ~22 sl
a 10
a c2 3 c4 c5 c6 | T, €10 [ Time
27 39 &1 78 92 54 69 70 61 82
98 27 30 64 16 80 72 54 93 1053 5 mrs
B 56 60 85 20 38 91 83 -61 80 46 || Marks
30 -86 12 -95 40 73 50 98 24 79
—
Marks /20 Marks| /10
: Division \
256 + 4 = 1
12192 + 6 = ) N
131133 + 7 = ?ﬂ o
141154 + 2 = 4
15475 + 5 = 5
16184 + 2 = 6
| 714y + 3 = 7
s Helcs8 + 8= 8138 + 2 = e
f"s 9171 +3 = 190228 + 4 = R B,
{ 10 101178 + 2 = 20 1465 + 5 = o ; 10
t““_ e e % 1) SR % ¥ e T J
dfon ,
" .m;:;?’
< e S 2 <




- Al A2 A3 A4 A5 Ab A7 AB A9 A0 || Time
QL 10 ¢3 80 I3 92 78 42 57 30 71
. 27 17 13 72 18 20 &0 82 92 43
‘ 85 40 26 60 43 64 93 34 65 _62 |
78 92 | -m 49 70 85 18 60 18 30 :A’“':
ar
43 35 ys 26 59 42 51 48 71 -29
< 61 71 68 91 26 17 36 71 24 18
59 24 -39 57 31 ~21 74 -56 86 -36
10
T e B2 B3 B4 | 85 86 87 | 88 B9 BI0 || Time
2 ‘_ 57 90 &4 30 27 63 70 56 89 13
: 40 61 20 73 19 50 29 18 70 59 2 mins
-29 T4 97 =15 &4 87 43 20 65 40 || Marks
~ 13 52 18 46 80 94 -87 34 -92 57
10
p‘ ) T ——
‘ \] Mul‘l'iplica'rionl Time | 1 min || Marks /20 f 33 Division | Time | 2 mins || Marks /20
L) ; (22 ™
1|48 X 5 = 1n|8 x5= 10651 +7 = 475 + 5 =
231 X3 = 12132 x 4 = o] 2260 + 4 = 12392 + 4 =
3|84 X 6= 13/70 X § = C 131378 = 6 = 13|552 =+ ¢ =
< — | :
4170 X 4 = 14/9] X 6 = { 41261 +3 = 14| 87 = 3 =
5|57 x2 = 15143 X 6 = 50344 = 8 = 15423 = 9 =
693 X 5= 1685 X 7 = 6138 + 6 = 16126 + 2 =
7|64 X3 = 17169 X 2 = 7415 + 5 = 177|574 + 7 =
8|29 XZ2= 8113 X5 = 8532 + 7 = | {18]195 = 3 = :
T _ — e —— e "‘—"l - ] - : | .}
9116 X7 = 19127 X 9 = 9 o e
g | L ["|6TF9= W0 :5=
10159 x 4 = 20180 X 3 = 00152 + 4 = a' R =
| 124538 ||t 8=
(2d 4r)
2 l : 6 7 8 9 10 Marks | Time
2
10 | mins
5N ¥
\"'L:lr ‘- 4
e w . < 2 &

Scanned with CamScanner




Time Taken

; e 1 Add Less
BRAINGYM
.\ : : 1
YOl ar | Ay |- Ad ] ciAB A A7 | A8 | A9 A0 || Time
1? &S 98 AT 12 ‘o 517 19 40 87
Wé e 5 8 926 39 l6 43 12 34
A 43 -84 21 81 50 -7 62 18 47
63 50 21 Ho -0 27 920 T -73 70 4 ming
S0 91 -T0 23 59 1 -78 80 54 68 Marks
-37 62 52 3 ~6M 16 23 57 -29 25
9 84 61 14 38 38 ~51 61 86 71
24 18 36 59 -23 61 84 25 A7 36
10
Multiplication ‘ }Timn r ] [Mnrks' / 20 Marks / 20
R ey wpeees e | B FrEa T \
1 45 X 4 = ni3 x17= 1 1 :
279 x3 = 12146 X 6 = 2 2
316 X9 = 13{72 X4-= 7 3 3
420 X2 = migr xs5= 4 4
536 X7= 15|84 X3 = 5 5
ieéwx&}: 16 ZIXS::_ 6 6
:77%,”= 743 Xam 7 !
:Bilrl?xs: 1874 X9 = 8 8
19{23)(9: 1986 X 8 = i 9
“10';63)(2: 200115 X 6 = . 10 10
(=
U\ %&
@ 2 3 4 5 6 8 9 10 | Marks
10
2
”"t- . - J
o < < @ <&
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Al A2 A3 A4 A5 A6 A7 AB A9 A10 || Time
87 &4 2] 78 12 23 35 84 76 21
Q 36 | -52 6 | -3 51 50 1z | 53 | 23 | -60 [3mins
ks
21 35 I5 14 26 I 51 21 85 53 [lEE
10
& : b a0 B2 B3 B4 B5 Bé B B8 B9 B10 Time
i_ 86 53 79 23 12 36 81 95 41 I3
=71 16 —64 70 31 12 17 =30 52 21 3 mins
Marks
32 47 50 -12 51 27 56 24 83 55 =
10
2|
c1 c2 c3 ca c5 cé c7 c8 c9 €10 || Time
61 34 78 95 67 23 85 10 41 62
70 68 19 24 38 65 90 69 73 17 3 mins
] 94 20 30 -16 90 41 17 38 25 80 ([ Marks
32 57 61 10 45 70 36 —H5 80 94
10
SN s S‘;’”" — b T LR TS
Marks / 20 [iN How many am I?
1. T am a three digit number.
. .\': 2. T am an odd number.
g5z + 6 = + . 3.Iamdivisible by 5.
3|gss « 7 & {12304 + 4 = B 4. Euch_of my digits is different.
o a— e — i 5. My digits add up to 8.
3 {394 + 9 = B3| 26 =+ 2 = 6. The tens digit is smaller than
N o : the hundreds digit.
101288 + 6 = i ~ 7.Iamless than 300,
15|392 » 4 = 150168 = 3 = ) 8. I have only one even digit.
B 6180 =+ 4 = L 16456 + 8§ = . Try to solve using the given order.
M7ess + 7 = 17| 360 -
8|34 + 9 = 18| 196 -
qolim + 3 = 19| 621 +
] —— &
511
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Time Taken
Add Less
Al A2 A3 A4 A5 Ab A7 AB A9 Al0 Time
16 58 37 25 62 49 18 73 28 91
43 23 52 47 80 73 52 10 49 30 |
70 91 —64 13 35 68 43 21 56 42 R
29 46 30 69 18 15 79 86 10 ~76 | 4 mins
85 72 -95 70 54 97 64 92 37 51 ("Marks
37 80 46 53 76 -81 90 54 91 —84
52 17 =08 82 47 30 25 37 85 29
94 35 3 96 21 =56 37 28 63 47
10 a
Bl B2- B3 B4 B5 ; B6 B7 B8 B9 B10 || Time Q
12 45 32 68 24 98 16 73 4] 39
30 52 15 53 50 -76 22 —61 32 50 | 3mins
56 | -6l 50 24 5 25 10 32 21 _72  [MdES
10
cl c2 G3 c4 ch cé c7 c8 c9 C10 Time
56 12 83 4] 26 54 67 81 32 22
21 60 16 58 10 30 1z 16 50 15 |3mins| |g
—65 21 —94 —79 51 15 -28 =15 16 j1 [LMarks
~ 10
D1 D2 D3 D4 D5 D6 b7 D8 D9 DIO || Time |
29 70 43 82 79 97 6 95 37 85
58 46 91 50 3] 30 45 26 15 20 \3mims| | -
59 18 64 25 62 70 10 40 16  |Marks| |
13 50 | -23 80 18 53 49 32 73 ¢
= — = = 10 i’
T B A T s ' 1‘0 .,"‘ J 2
R shaaled L R >
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£ R w"ﬁ < s ~Just in a Minute
i 2345 Bl LT
LALLES Add Less 123 Less
i b A0 seconds) (30 seconds)
ke 9 times
3 A2 A3 M AD Ab A7 . A8 A9 AlOD Time
o | s 80 42 39 16 21 61 79 24 71
; 62 24 97 57 23 56 23 63 71 58
19 73 36 60 89 I3 90 2 58 73
40 65 80 ~-43 ol 80 58 15 73 54 4 mins
27 49 73 84 40 94 26 -3§ 10 67 [Tharks
98 81 &4 =95 37 25 4 70 46 32
a 36 -92 19 26 98 1 87 -84 39 86
15 18 25 -8 14 48 15 27 85 70
10
R Mulﬂplicaﬁoh] i - Time / 30
1192 x 8 = 11|98 X g = 21| g4 X & =
228 x & = 12176 x 4 = 22112 X 9 =
3119 X4 = 13138 X9 = 23|73 X5 =
o 4130 x3 = 14125 x7= 24152 x4 =
5127 X5 = 15712 X 3 = 25| 48 X 9 =
— -
6168 X9 = 16|81 xX7= 2624 X 3 =
7193 x7 = 17139 X 4= 27130 X 6 =
8117 x 8 = 1842 X3 = 28(79 X7 =
9149 x 2 = 19 z3x3= 29|17 X5 =
q e e T —— —— O, S —_— - ——————— N e — —_———
10983 X5 = 2] 16 X2 = 062 X § =
- N\ &
U %3 (3d 3r)
! R R bt R S R B i s A ST e g e
ok 10
L W e 2 ©
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Try toLess the Number 55 |1
centinueusly from 1000 ; i :
i
_;._'\_i a1 A2 A3 AL AS Ab A7 AB A9 AJD § Time |
| 52 T8 724 TES §71 €31 748 311 736 776
1S | 132 30 | 3% | 231 | w20 | -334 19 | w23 | 3e4 |3 mims
S - Narks
X 1w | 30y 521 508 354 4 | -2 246 243
: 10
~

~ Tick the right answer

- L S
B

s gt nih g IS

mmhnsmmhar Wlm'rrsfh:totul
distonce covered by the plane in 4 hours?

:]1220 ;:]1330 (J1200 ((JNone

g s i
e e e D e

B et

If a rotebook has 210 pages. me-ypt@esmllﬂm‘re

Bocks have?
Dm&o C]leso (J17e0 DNone

ofmu-i:ketbu?isks.%l- F'mdetn‘rhecnsf

Oazz4 Dz432 C]2342 DNonz

Ore box contains 103 packets of chocolate. How many |
packets would there be in 9 boxes? i

[39027 [:]927 Dzn (JNone 0
—

ey

e S b R o A i e i e e S 5 B e o W g S o e e A g

------
eumsesvanssaTaRETISEOTT
.-

Let's take 723. If we add all the digits in the number (7 + 2 + 3 = 12),
then the sum is divisible by 3 ie., 12 = 3 = 4.

Therefore, 723 is divisible by 3.

2 < o w
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3 A A2 A3 A4 AB Ab A7 AB A9 | Ao e
3 93 81 38 19 | se 10 79 84 31 20
72 24 46 73 28 47 36 65 92 18
86 50 -29 62 17 89 =25 12 75 43
-30 78 51 g0 | 49 95 93 70 | -6 85 |l 4 ming
45 63 70 35 85 32 | —60 31 30 16 | Marks
—61 19 82 94 -60 61 47 89 =47 71
23 46 -93 26 3] 53 -81 43 26 52
=17 35 &7 51 -73 28 14 26 -87 4
10
Multiplicatioﬂ1 Time M_ur.ks / 20 L | Marks / 10
) C L frman |u
£ )
1143 X2 = 1|4 x 7= 11
218 X6= 12 ] 79X 8=
8 37 X T~ B4 x4 =
4196 X 4= 14195, X3 =
5|66 X9 = 15(52 x 9 =
6|54 X3 = 16|51 X3 =
747 X 8= 17180 X 9 = 2
8|78 X 6= 1836 X 5= 8
9184 X L= 19192 X7 = 9
10153 X5 = 20189 X2 = 10 :
—/
% (1d 16r)
3 4 5 6 7 8 r 10 Marks Time
—
14 ___
L < 2 <



w

<

g7 5]

r il
s s

Al A2 A3 A4 A5 Ab A7 AB A9 A0 | Time
5 37 17 68 95 8] 5 37 41 29
K % | -6 20 | -s7 | w0 | -70 30 | -26 5 50 || 3mns
38 25 51 23 14 26 51 8] 23 | -1g [
7 10
< o ,
+r B2 B3 B4 B5 Bé B7 BB B9 BIO || Time
43 31 35 79 4é 23 52 83 13 24
21 16 | —s6 53 66 46 5 70 55 | 3mins
65 | 51 | -z 61 | =9 | 2 | -1 | -1 | 35 | -es [Ho
10
al i
c1 c2 c3 1 ) o c6 a7 . (B - €9 €10 Time
89 29 30 90 28 97 73 30 95 4]
26 17 54 41 56 4] 50 71 46 80 |3
B 70 65 70 63 70 -85 24 36 -27 69 | Marks
15 4o | -z6 57 14 60 19 24 30 5
10
Marks| /10 /20 Marks| /10
& 2dx1 d\ e Er e Division \
" 1261 + 3 = 1672 + 8 =
1 : 1
B e et S ]
5 21370 + 5 = 1278 +3 = Ly 2
3 30623 + 7 = 13153 = 9 = : =
| 4 41258 + 6 = 141370 + 5 = ; 4_ B
S (_ — — e = ;|
5 5}1%;q= 15504 + 7 = I 5
z# 6 6 (639 + 9 = 16402 + 6 = | 6
' 748 + 2= 7216 + 4 = i 7
8 8282 + 6 = 18480 + 5 = % 8
| SAE S I~ I , . -
9 9171 +3 = 191360 + 8 = ii 9
10 J 10%‘]306—5: 201686 + 7 = { 10 J

<
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3 Al A2 A3 Ad A5 A6 A7 AB A9 A10 Time
QL 26 18 43 62 78 30 16 & & Z k)
50 73 29 89 30 89 72 18 81
92 -30 15 | -46 69 61 80 64 36 0 1___ |
26 94 56 3 mins !
43 56 70 5 12 23 51 B nae| 1@
81 =34 36 -37 43 45 34 50 72 29 ‘
> 65 95 82 50 81 76 29 13 60 48 r
29 —64 57 -28 94 18 47 52 57 67
o | |%
Bl B2 B3 B4 B5 B6 57 | 88 B9 BIO | Time
i 1z 87 54 96 29 33 16 34 26 98
B 79 65 20 30 46 12 70 Y] 90 36 |2 mins
40 39 76 -78 30 40 35 75 =81 17 Marks
36 -10 43 15 78 35 29 60 47 50 B
10
) Mulﬁplicaﬁon\ Time | 1 min Murl{s_- /20 '; g Division Time | 2 mins ||Marks /20 g
11éet x 8= 119] X3 = ey s 4= 1254 = & = :.
2130 x ¢4 = 12078 x 2= 283+ = (12234 + 6 =
3|62 x 6 = 13[37 x7= P 2 (138 < 2 = 13 |g93 + 9 =
” | e |
4|34 X9 = 1488 X 9 = 100 R R 14 415 = 5 = 1
! B .
5019 X7 = 15140 X 5 = 0 5 (168 + 3 = 15432 ~ 8§ = |
| " |
6|58 X 4= 6162 X 4 = B8R 6 (304 + 4 = 16 (136 + 2 = g
7|42 X & = 1797 X 8 = 71496 + &= 17 (576 + 8 = '3
8|27 x3= 1836 X 6 = 8 (280 + 5 = 18114 + 3 = v
X 9134 X 6= 19159 X 7 = 9414 + 6 = 193¢ =2 =
1070 X 5 = 20|49 X 8 = ': 10 158 = 2 = 20 105 + 5 =
A
%v“ % (2d 4r)
%
1 2 4 2 6 7 8 9 10 | Marks| Time | |
- 2
mins
10
'?L 16 —/3
L____ . e © " &>
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Time Taken

Add Less

_ Justina Minute

123

~/ Less

i (30 seconds) | (30 seconds)
S = 1
Al A2 A3 A4 A5 A6 | AT AB A9 A10 || Time
43 25 56 18 37 19 82 37 49 25
75 94 32 27 25 80 46 59 70 19
16 30 =75 60 98 43 15 =70 31 74
80 76 90 42 T4 -65 67 42 82 -38 4 ming
24 18 -6] 85 40 lé 30 -8 56 40 Marks
57 23 24 36 19 -3Z 84 &7 77 -51
& 19 97 ~18 54 63 51 29 23 13 62
82 S1 43 19 96 ~27 51 96 28 -86
10
ol l Multiplication 1 | Time Marks / 20 | Marks / 20:
e !¢‘1 NS T SO SR T O T Y T *\
1173 x 6 = (93 X3 = 1 1 :
2119 X2= 12171 X 6= 2 2
;~—50 X 4 = 13|98 X5 = 3 3
@ : é; X3 = 14184 X 8 = 4 4
h5'73;x3= 1533 X 6 = 5 5
; "3:;—;3= 16|85 X 3 = 6 6
7115 x4 = 17|52 x 5= " D
—ai ;;“—;_'7 = 1816 X4 = 8 8
9_'7'5‘)&: 1998 X7 = 9 9
> 10 “Z;_ ;(-9#:'7 o 7;0 Y6 X 9 = 10 10
- | E——
Z
U5
) 2 3 4 5 6 7 9 10 [ Marks] Time |
—
a @ o Q &
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Al A2 A3 Ad A5 Ab A7 AB A9 A10 Time
48 65 71 95 37 52 69 23 47 83 B
26 | 15 26 | 40 =j5 4s 18 56 | -32 61 |[3mins
51 38 | _&2 3 56 | -92 37 | _19 23 71 [PMeES
10 Q
IR ([~ B2 83 B4 85 B6. | B7 B8 | 89 BI0 || Time
95 79 68 34 5 3 49 16 51 26 x
30 _58 -17 ¢5 82 20 24 90 39 50 |3 mins
Marks
12 63 42 89 44 57 10 23 —60 17
10
& C1 ce C3 C4 c5 cé6 c7 c8 c9 Cc10 Time
71 56 84 29 60 59 81 37 12 4g -
24 67 3] 74 23 70 &4 18 90 39 3
80 41 60 15 41 —26 90 42 73 10 [Marks
69 30 —97 80 75 34 27 50 | —65 76 5
10
" Number Challenge
1469
281218
41624216 g
1Y = {17180 + ¢
729 + 18592 = 8
e = 119147 + 3
4o5 = 20]380 + ¢4
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SR, 4 A

@ :' e Time Taken B
SR . Numbers
—|
O .
¥ A A2 A3 A4 A5 Ab | AT A8 _ Al i :
o O 7 ’5
32| ™ 63 90 86 43 89 I3 47 9
40 70 52 3 57 20 65 38 24 78
35 93 )
53 8] 67 4 12 Y3 39 ~16
19 92 3 15 98 76 30 20 31 20 | 4 mins
75 —64 94 60 20 12 47 54 60 32 [ Marks
38 5 26 -93 35 58 62 72 59 36
24 -37 58 49 76 9] 51 &1 73 49
92 48 21 _28 34 65 94 63 16 57
10 '
I
T B1 82 B3 B4 | B85 B6 87 B8 B9 | B0 [ Time R
39 85 27 60 51 27 9] 78 30 56 :
17 30 49 18 16 80 63 40 27 37 |3 mins
| 20 14| 30 23 27 12 | -34 21 By jo ' [HES
10
f c1 c2 c3 ca c5 cé c7 c8 c9 c10 | Time
772 14 63 75 18 41 89 18 28 67 ,
53 69 91 19 34 70 16 90 =1 41 |3mins| |g
80 30 52 63 20 | -25 23 45 78 20 [eliecss |
10
| | o1 D2 D3 D4 b5 b6 b7 D8 D9 D10 | Time
SRR 34 18 65 23 40 79 86 17 63
I\‘: 70 15 73 29 70 72 80 ¢4] 98 8 |3 mims
63 90 50 37 15 -18 23 50 -65 10 |l Marks
\\ 12 76 -82 40 98 39 46 13 24 79 QP
“: 10
. 20 _/
b e < p <S>
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Ir o . | Time Token 1 Just inﬂd,Mi”jmz
1% B R 3456 BN 234 5 B
gt BRAIN GYM Add | Less - 2ad 2340
; ) Pm':t (30 seconds) | (30 secands)
k et el ek 9 times
§ b e A3 A4 A5 | A6 AT AB | A9 A0l Time
63 4 58 26 79 81 32 56 67 e
58 97 27 84 70 38 17 23 54 77
40 63 -6 15 46 59 -28 75 82 85
-9 18 34 60 &3 74 43 80 -35 6t 4 mins
y - g0 =19 12 17 20 =50 12 16 37 Marks
-39 52 82 53 -25 67 91 T4 -19 43
16 34 ~70 77 68 73 T4 38 70 60
54 15 46 31 =54 16 83 49 -23 78
ll Multiplication l Ti‘meﬁ
Ll '
1?70X9= 1 en xiz= 21
:2]113;(3: 12|99 x 3 = 22
34‘52x7—_- 13122 x 8 = 23
4‘19.?{)(2: 14197 X 6= 241710 x 3 =
—_— _I pre— B —
5139 X5= 15142 X7 = 25(21 X4 =
_;1',‘_ | e e
677 X8 = 16(9] X &= 26|73 X § =
L - =
7|45 x 9= 17175 x 4 = 27160 X 5 =
r— | N . o T T S e
23536X6= 18j86)<2= 28|12 X7 =
9378)'(”: 19139 X 9 = 29G3x2=
110‘561!7: 20|l g2 x7 = 3095 X 6 =
=\
J % (3d 3r)
[l 2 3 e e 6 7 8 9 10 [Marks| Time
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. 10|
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Try to Less the Number 64 |
continuously from 1000,

Speed
Writing

—
¥
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i
=l
£

Al A2 A3 A4 AbB Ab A7 A8 A9 A10 Time
21 | 124 | sz1 | e1z | 186 | 221 | 137 | 281 | w2z | 713
ng | 180 | 700 | 198 | 197 | &1 | 190 | s1z | ss0 | 951 | 3mins
340 | =302 | 311 | 135 | 200 | 722 | 08 | as | 09 | 216 [
10
-~

_ Find the Cubes

o PP SN R e P o ke

Cube number is arrived by multiplying any given number thrice.

Divisibility Rule for 4
Tty

T A

-..Iiﬁ‘t“‘“l“"lﬂ'ilnvvi‘- B bk FTIEEE

A number is divisible by 4, if the number formed by the last two
digits is divisible by 4.

For example in 516, the last two digits formed is 16, and 16 + 4 = 4,
Therefore, 516 is divisible by 4.

faas sasnas 4 ' SESAPEINADIENTETAIASE0000 SR RaNTAINSAIESSERIALHIRIOAEAARAORLAIALSRNRILANS HASPASASLISIEANTANGASSS LI ARYY
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69 37 -1 40 81 70 ys 47 15 98
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94 50 60 36 16 29 38 =78 49 84
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. 5|46 x 8 = 15168 X3 = s
{
K 6|13 X9 = 1690 x 2 = 6
‘ 7 7112 X5 = 17178 X 3 = T
] 8 8|93 X 4= 18(3] X9 = 8
B 9|7 x2= 9| 64 x4 = o
| |
.10 10|56 X 8 = 20159 X7 = ‘w0
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v 24 o
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49 26 80 12 97 29 53 61 52 36 K
16 24 53 60 31 &4 72 98 19 81
-32 80 17 35 -86 17 90 12 =73 40 |
70 3] 92 81 29 80 61 50 46 75 || 3 mins
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"0 | R
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58 27 39 60 25 81 61 90 53 36
23 90 15 Y7 61 79 50 21 46 30 (| Zine
40 5 707 ¥|tisz 87 60 25 -37 90 19 | Marks
69 38 62 39 g 35 89 45 12 45
| &

ﬁ] Mulﬁplicqfioﬂ Time | 1 min |{Marks| /20| (F| bivision Time | 2 mins |[Marks| /20 .

_126X5= Y75 X3 = | 11100 + 4 = 1|42 = 8 =

2 4] x = 12190 X 5 = 21288 + 8 = 121855 + 9 =

3(33 X & = B4t X 6 = ’ |51 = 1= 131 81+ 3 =

al75 x 9 = 14)53 x 2 = || 4]290 5 5 = 141290 + 5 =

S|194 X3 = 15161 X 9 = ‘ 51510 ~ 6 = 15 24 wv2 = o
638 X 4 = 16129 X 4 = 6 (29! + 3 = 16216 + 3 = U
7117 x7= 17187 X 3 = [ 7]368 + 8 = ilags 5 5o AR
8129 X5 = 8134 X7 = ey 8 (54 +2 = 1Bq3z:g= ".
9|56 x 3 = 19026 X 8 = ‘ 91651 + 17 = :;-4;8—6+6*=

10|74 x ¢ = 20|55 X 9 = :'1058Z+6= ;648;9= i
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2131 x6= 12|14 X9 = 2 2
369 x5= 3182 XZ= 3 3 .
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6|50 X5 = 16|75 X & = 6 6 g
7173 x 8 = 1718 X7 = e - '
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71 98 23 9] 63 80 29 51 72 14
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k
| sz 43 ¢5 38 37 92 86 65 | -16 3¢ S
G
< e :
B1 B2 B3 B4 B5 - B6 B7 B8 B9 B10 Time
23 64 96 78 63 92 41 36 28 19
18 30 47 23 75 37 60 81 -17 82 |3 mins
ks
N 72 5 4e 80 | -3 29 79 30 7y [LMar
10
2
Cl cz C3 C4 C5 c6 c7 c8 c9 c10 Time
72 3y 10 57 86 36 19 86 57 41
5] 92 73 Y9 70 18 50 93 60 26 | 3rne
B -30 61 25 30 12 20 &4 10 92 70 Marks
36 50 69 -84 39 79 82 =75 14 32
- 10
Division Marks / 20 ﬁumser se&ue »
O Could you find the next
8. . - 1] 130 S | number in the sequence?
5 . (@3,6, 9 12 15
2 s = 12| 348 4 = - (@) 3,6,9, 12, 15,
32+ 4 ; _ ; (a)
31170 + 5 = 113 | 235 5 = : e
; - (b)1, 5, 14, 30, 55,
|42 = 9 = 14| 639 7 = | N
5|18z + 2 = {15413 + 7 = (o) 2, 11, 25, 44, 68,
t}’ 61280 + 5 = 16| 81 3= t
7216 = 3.2 1171336 + 8 = |
——— : ._.__.I. §
B|138 + 6 = 18| 666 9 = ;
> 9 lypy 4o 19| 258 3 =
I —d i 3
(110 M 3 : £ 4
ol _sts AR - |20 638 7 .
} — 29,
| Eo Wi i@
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-59 47 89 3 | 49 26 48 9z | -39 65 |4 mins
76 90 ) 97 30 5 -72 69 z1 81 | Marks
-90 16 73 52 -18 71 90 4s 45 39
47 32 95 &1 73 64 | -53 26 68 46
23 78 26 43 ) 98 61 83 -92 27
10
Bl B2 B3 B4 B5 86 B7 B8 B9 B10 Time
50 48 13 26 31 10 83 21 64 35
27 -39 36 80 74 63 56 72 18 42 | 3 mins
Marks
18 72 79 -95 89 72 40 56 -43 97
10
Cl c2 c3 Cc4 £5 cé c7 Cc8 c9 10 Time
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20 18 61 83 26 38 25 90 43 72 || 3 mins
36 43 -76 Y] 30 67 -37 16 86 59 || Marks]
10
D1 D2 D3 i e R, D8 D9 DIO | Time
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Add Less Add~_ - Less
= (30 seconds) | (30 seconds)
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A2 A3 A4 A5 A6 AT A8 A9 A10 Time
73 78 14 50 76 38 19 62 41
49 51 &7 48 91 24 87 15 79
94 18 —64 30 92 45 90 46 30 83 Q
83 60 80 92 61 -80 17 92 48 —65 || 4 mins
26 31 =47 16 17 19 65 =70 74 30 Marks
67 4 30 23 83 -34 89 38 73 =57
A | 39 52 -26 71 Y5 27 56 -21 87 92
51 87 43 89 26 -58 waiy3 63 16 48
10
) ]
B ; l Multiplication -‘j_ri'mé,' 7 / 30
o I 3 3 Q
1170 X 4 = 11195 X5 = 21151 X7 =
2 4z X 6 = 12 80 X 6 - 22 85 X 8 =
3199 X2 = B{93 X 2= 23|92 X 6 =
o 4137 X5 = 14115 X7 = 241 18 X Y4 =
5161 x3 = 15165 X &= 25|32 x 9 =
6|43 X 9 = 6|46 X 3 = 26|28 X & =
7056 x 4 = 1719 x7 = 2759 x 2 — €
8113 x7= B70 X3 = 28|11 x5 =
& 9182 X8 = 19189 X 4 = 29196 X 7 =
0192 X 3= 20|67 X2 = 30|27 X &=
D ‘
% (3d 3r)
:> 1 2 5} 6 7 8 9 10 Marks | Time 0
<
g _ 10
L2AN y
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37 ) 79 | -32 [ DU L 42 38 6
10
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29 14 72 68 23 58 92 38 17 zl
76 39 50 19 é8 41 -6 &4 48 56 {3ming
Marks
=50 28 34 50 49 73 4§ 21__| -39 Ll
10
a c2 c3 ca c5 c6 c7 c8 9 €10 | Time
28 63 17 49 15 70 68 54 29 40
15 50 98 25 60 39 19 70 és S ey
50 37 24 70 38 -54 80 18 ~40 59 | Marks
94 382 —60 18 4 62 73 69 13 62
10
L HE S 3 3 1 * 63

2 656 = &N 783
& _ — = ———
+ RN 252
. L3 B 14 - O
+ 1= i ! : I 196
= 15 =% N o . !
e = 0 - I Rt 534
B 1 a2 T
i . 9] |
= - 17 + e
e . e T4
= 18 = il T e
i A - S 190 + 2
5 191372 + 4 e —
s 368 - 4
s 20 Lm + ——e
5 ARSI S T T » - 201 A
P
— 52!
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Speed i ATr"y to Lzés ?thum er { | Circnilar‘
Writing | o eal o) . Sums
W o s B e A > L s Thr
A Al A2 A3 A4 A5 Ab A7 AB A9
j 621 813 | &2 | w17 | 186 | 135 | ewr 537 | 81
989 | -179 | 989 | 823 189 175 | -230 | 423 | 399 | —431 |3 mins
| 490 | 286 | 13 | 870 | 390 | 190 | 799 | 796 | was | e7s |
10
p

“Tongue Twister

Betty Botter had some butter,
“But, "she said, "this butter's bitter.
If I bake this bitter butter,

It would make my batter bitter.
But a bit of better butter,
That would make my batter better."
So she bought a bit of butter-
Better than her bitter butter-
And she baked it in her batter:

And the batter was not bitter.
So it was better Betty Botter
bought a bit of better butter.

Number Challenge

3¢ + 49 = 21 @ =
50 - 20 + 4 = 19
°+—€"}—§=> 9=
2 2 _
=20
wn _ © ° S ®
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Marks / 10 Mulﬁpilcahonj Time Marks / 20 ,*_ ltMarks / 10
o | 1 g
R, T AN
< §
’ 1191 x17 = 1|56 x & = R
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ks
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6 | _s2 8y 6 9 g5 61 38 5 [Nk
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